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Subj ect- Economics qoifes : 100
aiftfe gevfifste afleT—2021 Full Marks : 100

I ntermediate

BT Ul &I FHI=AT

>

Total No. of Question 59 ¢ Ferer)

General Instructions

Al Fer & Feft ueer 3iferart B

All Questionsin both groups are compul sory

o yoeg & Jafl ool BT Icdz T & Il U &lell dnav |
All parts of an answer must be written at one place.

® U FJAT 1 A 15 3R 31 A 45 dgfadmcdT ueaw (1 3iwt) 2
(Question number 1 to 15 and 31 to 45 multiple choice questions carrying 1 mark

® Uee JJAT 16 A 20 3T 46 A 50 Rad emedt @t gfef arer uest 1
3BT B
Question number 16 to 20 and 46 to 50 fill in the blanks type questions carrying 1
mark each.

® yoe FJT 21 A 25 3T 51 A 55 3ifd adg-STNT U 2 3T
g fSrerd 3T 40 ot A faRaw
Question No. 21 to 25 and 51 to 55 are very short answer type questions carrying 2
marks each. Answers to these should not exceed 40 words each.

® U FJAT 26 A 28 3T 56 A 57 -3 T | Ued & forad uds
P 3 3 B Seld A URADB bl 3cd2 150 ol H faRaw
Question No. 26 to 28 and 56 to 57 are short answer type questions carrying 4
marks each. Answers to these should not exceed 150 words each.

® U9l FJAT 29 A 30 3T 58 A 59 dId Icd8T U & oard uaw
P 5 3k B Seld A URADB bl 3cd2 250 2ol H faRaw
Question No. 29 to 30 and 58 to 59 are Long answer type questions carrying 5
marks each. Answers to these should not exceed 250 words each.

Gug—A (aafte srefem= &1 uRk=A) Introductory Microeconomics) 52 Marks
ggfaseda ye (1 (@) Multiple choice Questions (1 Marks)

fr=farfaa get 4 9 9@ fawey &1 997 W 1x15=15
Choose correct options in the following questions.
3TdAT AT Bl dbieUds =fTH &—

The alternative name of opportunity cost is -
(A) 3frra oera Average Cost (B) eN==richel ofTora Accounting cost

(©) sxaiazor oeta Transfer cost (D) FAifees =Imorad Monetary Cost
feldet & A HATor bl UeTIfad I aTcAT bIReb hlel AT & ?
Which of the following affects demand?

(A) 3IcIGel Pt ddesild (B) Jmerer @t WwrHAAT Price of
Technology of production Factor

(©) Iuafrar @t 3T (D) 3aureer @Y amorad Cost of
Consumer’ s Income production



10.

11.

IUNTSTAT Y ATT Bt sbrs &— Theunit of measurement of Utility is-

(A) fmetramar Kilogram (B) <flex Litre

(©) e Meter (D) gfesw Utils
gole Pt T ardt 28— Thesope of abudget lineis-

(A) sruTTers Negative (B) eretTeHes Positive
€ o= Zero (D) areia Infinite

fFT UbR & azg @ Aol ITHT BtAT A ghg A TedT B ?
The demand for which type of goods increases by increasing its price?
(A) smaeas axg Necessary Goods (B) TremfRar a=g Luxury Goods
(C) Gitaer gt a=g Life saving (D) Briteer a=g Giffin goods
goods
Rt a=g @ 3dea AT A Uk IfaiRad This A gl B U=
Icleel dord HA &l drell gleg Bl =T wBaT Siar 8 2
The increment in Total cost of production due to an additional increment in the
production quantity of a product is said to be-
(A) @eT imora Tota cost (B) 3f=1a wmeta Average cost
(C) fFia «Iera Margina cost (D) 3@z «mera Opportunity cost
Seleprollel 3cUT3sT Walel bl sl &—
The name of Long run production Function is-

(A) 3u=nforar warer Utility function (B) Jmerer w1 ufatser  Returns to a
factor
(C) VoA BT ufadwmar Returnstoscde (D) amora Wwater Cost function

U 3IdIeh 10 ol @bl ol | 5 Hud ufad Racla &F 22 I
JTar & ar IFBT FoT AT =i goft ?

A producer sells 10 toys at the rate of Rs. 5 per toy in amarket. What is his Total Revenue?
(A) 15 U Rs. 15 (B) 5 »uxr Rs.5

(© 50 ®uAr Rs. 50 (D) 2 U Rs. 2

ot uferenfrar aom & waf o Jz=m St 3-

The number of firmsin perfect competitive market is-

(A) 1 B) o

(© 10 A @A lessthan 10 (D) @ga s1f&as Very large
UGB garRr 3difed a3g &t dAfor ardy 3-

The demand for a goods produced by a monopolist is-

(A) guitagar caer Pefectly elastic (B) araer  Elastic

(©) Sefraerz Inelastic (D) wofaar Jefraer
Perfectly inelastic
Sops HARTA & FAR IuNBrar & ATT Tt THIE B ?

According to Marshal, the unit of measurement of utility is-
(A) fmetramar Kilogram (B) FfteT Meter

(©) Hgar Money (D) <fec=r Utils
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12.

13.

14.

15.

16.

17.

18.

19.

20.

foteet 3 A T ab BT 3MTebR 3car U 3BT bl aidr & ?
Which of the following isinverted U shape?
(A) Zfrerid  3Iu=nEdrar  Margind (B) 3tia «merd Average cost

Utility Curve curve
(C) fFta omera Marginad cost (D) fieria Iaare Marginal product
curve

hid SITAA Icdles! Wwalel Q=ALk? H YaATa BT ufdmear &t AT B-
The Returns to scale in Cobb-Douglas Production function Q= AL“k” is measured by
A) a+p B) a-p

©) axp D) alp

afe Rt a=g @t @Afor ass Q=10-5P & & a=g & FHtHAaT 2 Hud
Uty ShIs UT dexg HI HAfor =T BIOf ?

If the demand curve for a goods Q=10 — 5P, What will be the quantity demanded of
the goods at the price Rs. 2/- unit?

(A) 10 B) 5

© o (D) 2

THRIIETBR # a3g & diAd (P) 3R AdAia aerag (MC) dF a=m dAde
gdar &
What is the relationship between price of a goods (P) and marginal cost (MC)

monopoly?

(A) P=MC (B) P-MC=0

© P>MC (D) P<MC

Raa zemet @t gid @sifse 1 Fill in the blanks 1x5=05

.................. S 37t I &7 b1 fIsiar war 21
.............. defines Economics as the “ Science of wealth.”

ITAPErT @B .. H HAUT ST AbdT & |

Utility can be measured in ..................

Rl a=g &t Hfor 3R IusiiarAT &F 3mT H ... Jde AT g1
Thereis........... relationship between demand for a goods and consumer’ s income
SId 3dlGel & ATl H 5% Bl gieg &l A 3G H 5% Bt Jieg
Bldl & ar 23 AT BT e UtdheT haT SITEaT |

The returns to the scale is said to be ..............., if there is 5% increment in the

production due to increasing in factors of productions by 5%

a1 fafdresr ammeepr A1 TRt avg T 3TcTor-31cTeT dHIAd a3eiel &I s
................. BHECTAT 2 |

The process of charging different price of a goods from two different customers is
caled ................

aifer oig 33T uear Very Short answer type questions 2x5=10
ferdeT ueell & Iz faRRaw 1 Answer to these questions.



21 3rderazen @t Rl Uh Bl JHA=T &1 ATSAT BISIT |
Explain any one of the central problems of the economy?

22 FfoT A 3MU =T AHIA & ? What do you understand by demand?

23 qyfd @=m 227 gid & fersr o1 faRaw
What is Supply? State the law of supply.

24 3dTesr Wwotad ot uRRetmar fa1RRaw 1 Define production function.

25 TP dolR Adoled &Y 3M@azaT H B &idr & 2
When is a market in Equilibrium?

g 3T wear Short Answer Type questions 4x3=12
forder ueell & 3Iaad< & 1 Answer to these questions.

26 3erRiler as @t fhedl [AAuarstt & ==s=m ifeiv |
Explain the characteristics of an indifference curve.

27 WA I 3N NAT I H A9 bl IFMT A AHSSU |
Explain the relationship between Marginal production and average production with the
help of a suitable graph.

28 Tw yuiuferRmeft aeme @ owarsit wr faRaw |
Write down the characteristics of perfect competitive market.

& 3T uesr Long Answer Type Questions 5x2=10
fordet uoell & 3Iad< & 1 Answer to these questions.

29 THIAT axg @Y HAfoT BN THAT B dlcd BIRBI Bl TTEAT BHITSIT |
Explain the factors affecting demand for a commodity.

3rerar (OR)

uRadeefiiar argura & forwar o fRaw i 3o <ms=n it |
State and Explain Law of variable proportion.

30. 3IdIEs dRId A 3T FIT AHAST & 2

(a) What do you understand by production cost.

(b) 3T oETa 3T AlATd oPTa H AdEe Bl AT BITSIT |
Explain the relationship between average cost and marginal cost.

3rerar (OR)
fergartaIRaa arferasr A ATOT B BIAT lg dbr IUTET BT |
aIg Br BiAd (Priceof goods) | axg @t &Afer A (Quantity demanded)

5 20

4 30




wug—2 (gHfke efem= &1 uR=™) Introductory Macroeconomics) 48 Marks

Jgfasedia gz (1 sidra) Multiple choice Questions (1 Marks)

31.

32.

33.

34.

35.

36.

37.

38.

frrafaRaa gt # 4 9 Adeu &1 399 o 1x15=15
Choose correct options in the following questions.

frea @Y HAgTer FHE A ad gg off ?

In which year the great depression of the world occurred ?

(A) 1914 (B) 1929

©) 1939 (D) 1945

froaiaiRaa & I pY If=r 3= &t ororenr H Afdwfara @t e
ST B ?

Which of the following is not included in the calculation of National Income?

(A) FHGIEIT Wages (B) wrer Profits

(C) &xdiazor ggararer Transfer payments (D) &forrer Rent

TTA dicA Aufed A HATET Srar 2 2
Which of the following is considered as the most liquid asset?
(A) sreter Land (B) Arem Gold

(© Jgar Cash Money (D) S & Jmafer s/aT Time deposit with banks

TGATRIB Jeb BT bred el 28—
Which of the following is not the function of acommercial bank?

(A) STHAT INBIT BT (B) HATHT b1 feradtor
Accept deposit Credit creation
(C) woie @1 1=t Asaagent (D) a1 ferefarer Issuing money
MPC + MPS =?
(A) o (B) 1
© 1 JF z1feres morethan 1 D) 1 A oA Lessthanl

ofe MPS @I AT 0.2 &, AT IUIs BT HIS =T &lOI ?
If the value of MPSis 0.2, What will be the value of multiplier ?

(A) 5 (B) 0.2

© 1.25 D) o

IAIBR B Yollord 3T B Jd -

Which of the following is the source of capital receipt of agovernment?

(A) sror @t ageit Recovery of (B) faferaer =¥ ured 3m=r Income
laon through
(@) @z Tax (D) sror Debt

HRT A e ad &5t 3rafer o=m arar 2 92
What is the period of Financial year in India?

5



39.

40.

41.

42.

45,

(A) 1 Slaadr A 31 AT (B) 1 3UA A 31 HAE

1 January to 31 December 1 April to 31 March
C 1 &S A 30 3WA D) 1 AR A 28 WHI
1 May to 30 April 1 March to 28 February

IR JAgclel STd del bl JA aidl a-

What is the formula of calculating Trade balance?

(A) smaTa+fer=ria Import+Export (B)  3mema-fer=rta  Import-Export

(©) ferarfa—amma Export-Import (D) fersrfa*amema Export* Import

Uk 29T & AU Adoled & diel, JTdT A o= AfFATera =&t dar 2 2

Which is not included in current account of BOT of a country?
(A) azg 1 3mard Import of (B) faaeft forder ¥ 3m=r Income

goods from Foreign
(O a=g o1 fTer=ria Exports of (D) fageft 3wor Foreign Debt
goods

‘The General Theory of Employment, Interest and Money’ siTe®s g3dd & clBIh
BT & ?

The writer of the book ‘The General Theory of Employment, Interest and
Money' is.............

(A) wsa Raer Adam Smith (B) 31cws wATeteT Alfred Marshal

(C©) STowHaOB=AT JM. Keynes (D) Srosito = JB. Say

oreaafeRag & A Pra AT 3T B orurer @ fafer & B2

Which of the following is not the method of calculation of National Income?

(A) Iagre fater Product Method (B) amer tafe&r Income Method

(O ufcaera fafer PercentageMethod (D) =r=r fafér Expenditure Method
fofeet H A BT B HST BT BT d8F & 2

Which of the following is not the function of Money?

(A) Fcg w1 ATgaT Measurement (B) fafererer @1 Aterer Medium of
of value Exchange

(C) ZeIfora oforarer I ATelel (D) aStera f3erar Price stability
Medium of deferred payment

oTRd A HaT TeroldAel bl rf el dbar & ?

Who does the work of currency issuancein India?

(A) JdecaTr Tbp 3iTH  sSf3ar (B) s e Fb  State Bank

Central Bank of India of India
©) am=dr Rod Tk Resarve (D) Tep 31Tp Sfe=m Bank of India
Bank of India

IGThIHT Sifer @B 3fo1 Bla E-
Which of the following is the part of fiscal policy.

(A) @Bz Sfifar Tax policy (B) Jes Tz <fifar Bank Rate policy
(O Jgeit wmer =iifad Open (D) am=féra argura Policy related
market policy to change



46.

47.

48.

49.

50.

o1
92.
53.
54.

55.

56.

57.

58.

Req zemat &t g @Hifst@ 1 Fill in the blanks 1x5=05

sreferazen &1 UiRaiiRes &b ............ Jdfera ferofer war 2
Household of an Economy takesthe decision related to ...........

d agU Sif Rt a3g & I H B AT B HU A UIad ardl
B e BecTTdl & ?

The goods which are used as raw material in the production of goods are called .......

foraer forerfa &3¢l 3= BT oo 31T Wl 2|
Net Exportisthe............... function of Domestic Income.
HaT TAR U= fo—i=or &1 &b . HAT B

................... controls the money expansion.
IAIBIT Bl dolc bl HUlc bl dolc Phal olldl & old JAIBIT bl 3T
SHDBT e, A BA B B

Government budget is said to be Budget deficit when itsincomeislessthan ..........

aifar &g 33T wear Very Short answer type questions 2x5=10
foraet uesli & 3Iadz To1lRaw | Answer to these questions.

b T el ofldr & ? 3<T820T dIfste | What is stock? Give example.
TARe 3refer=a A o= area=f & 2 What is meant by Macroeconomics?
Ao gfeg @=m B ? What isvaue added? Give an Example.

avg fafergar uomelt A = wieemsar &t off ?

What were the difficulties with the Barther system?

8JoTdTel AdoTel ol & ? S fAfdtes Jal @ oA faRaw
What is balance of payment? Name its different Accounts.

g 39T wea Short answer type questions: 4x2=08
ferder wosll & 3Iaadz & | Answer to the questions -

srefeaa=e #H 3T P ddol ohbid Udle & &I 5T HIsel &bl ATAT
BIST |

Explain Two sectors model of circular flow of Income in an economy.

HaT B BT B s asifeie 1 Explain the functions of Money.

& 3Ed wesr Long Answer type questions: 5x2=10
fefdet Uodll & 3Iad? < |

3ae fafr J Bt Qo1 & JTbar wel 3cate (GDP) @5 oToraT A @)
SITdl & ? 3e1e3or Afea === FHifsie |

How is GDP of acountry is calculated by product method? Explain with example.

3rerar (OR)

gfe fp=ft srefeyazemr & 3usior water C=50+ 05Y B ar =G ==
#H 50 FRe HUA Bl ghg B UT JAdoldl foold U USH dlal UHATE
P ST PIHSIT |

If the consumption function in an Economy is C=50+0.5Y, Explain the effect of
increment in autonomous expenditure by Rs. 50 crore on Equilibrium output.

7
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59. oures T @97 wEe MPC 3 5w usr Jdftia 87 3eezor afga
STFAT BITSTT |
What is multiplier? How isit related with MPC? Explain with example.

3rerar (OR)

reafeiRaa aricesT I ATge SeTd UR Adbal "¢, 3ade3d (GDPrc) @bt

JMUTAT HISTT |
Calculate the GDP at factor cost from following data.

HA< Items ST @@= HuA H)
Amount (in Lakh Rupees)

faesT Sell 700

FFefiet @1 @ Purchasing of Machine 100

eieb A Ufdader Changein stock (-) 30

b HATA BT b Purchasing of Raw materials 400
31gAceT b2 Indirect Tax 60

FeI¥rast  (3uere) Subsidy 50




